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MEC-009 : RESEARCH METHODS IN
ECONOMICS
Time : 3 hours Maximum Marks : 100

Note: Attempt questions from all the sections as per
instructions given in each section. Word limit does not
apply in case of numerical questions.

SECTION-A
Answer any two of the following questions in
about 600 words each. 2x20=40
1.  What do you understand by the term ‘Paradigm’ ?
How does Kuhn explain the growth of knowledge ?
Explain. :

2. Explain the different models of scientific
explanation.

3. Name the various methods of random sampling.
Explain the operational procedure for selecting
the sample by Simple Random Sampling with
Replacement. Give examples in support of your
answer.
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4. What is the distinction between quantitative data
and qualitative data. Explain the various steps
involved in compilation of qualitative data. Give
illustrations.
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SECTION-B

Answer any five questions from this section in
5x12=60
about 400 words each.

5. How does review of literature help a researcher
in conducting the research study ?

6. State the assumptions of classical linear regression

model.

7.  What is auto- correlation ? What are its
consequences ? Which technique would you
apply to detect auto-correlation ?

8. Explain the relative advantages of Rapid Rural
Appraisal over sampling survey approach in
conducting a research study.

9. What type of data is available on agriculture ?
Identify the agencies involved in compilation of
agricultural data.

10. State the computation device of Gini coefficient
index.
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11.

12.

Explain any three of the following
(a) Non-sampling error.

(b) Operationalism.

(©) Goodness of fit.

(d) Group discussion.

(e) Triangulation.

(f)  Logical empiricism.

You are given the following results :

log C = 430-1.34 log P+0.17 log Y

se = (0.91) (0.32) (0.20)
R™2=0.27
N = 46

Where

C = cigar consumption, packs per year

P = real price per pack

Y = real disposable income per capita.

What is the elasticity of demand for cigar with
respect to price ? Is it statistically significant ? If

8o, it is statistically different from 1 ?
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11. Frefafea 3 & e fi7 9t e SR
(a) T freE Ffe (Non-sampling error)
() RAEHAR (Operationalism)
(c) WA T A9 (Goodness of fit)
(d) 9 9= (Group discussion)
(e) PIEA (Triangulation)
(f) dfdk® YEER (logical empiricism)

12. e Frefafea oftom vem fed ™ €
log C = 430-134log P+0.17log Y
se = (091) (032 (0.20)
R-2=0.27
N = 46
R - .
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P = %fa ¥ Srafas wiwd
Y = Wiieafa arafas =4 94 (disposable) 34 |
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